Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.8.dwg

203 Humble Ave.

STEVES

San Antonio, TX 78225

STEVES AND SONS

OPAQUE FIBERGLASS DOOR

SINGLE w/ TRANSOM
w/ or w/out SIDELITE(S)

INSWING/OUTSWING
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building
Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone" (HVHZ).

. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base
material shall be beyond wall dressing or stucco.

. When used in areas requiring wind borne debris protection this product is required to be protected

with an impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x

buck masonry construction.

Site conditions that deviate from the details of this drawing require further engineering analysis by

a licensed engineer or registered architect.

TABLE OF CONTENTS
SHEET # | DESCRIPTION SHEET #
1 Typical Elevations, Design Pressures & General Notes 8 Horizontal & Vertical Cross Sections (1X Buck)
2 Door Panel Details 9 Horizontal & Vertical Cross Sections (Direct to Masonry)
3 Sidelite & Transom Panel Details 10 Vertical Cross Sections
4 Panel Options 11 Buck Anchoring
5 Elevations 12 Frame Anchoring & Hardware Details
6 Horizontal Cross Sections 13 Bill of Materials & Components
7 Horizontal & Vertical Cross Sections (2X Buck)

% 37.5"x 95.25"| +40.0 -40.0 +40.0 -40.0
290 92 20 leas'x9525'| +40.0 | -40.0 | +40.0 | -40.0

A\
& 5
A L
i i SRS
=5
X = 8«5:.
° ° ° E “_:..9
° ® X 9| < o
x ERaN
'y
2 PANEL 2 PANEL 3 PANEL
3/4 SQUARE TOP PLANK CRAFTSMAN
<
Os
< 0T
<20
= Z ] 1"
=< 68.5" MAX.
N OVERALL FRAME
=0 WIDTH :
o]
ﬁi 2 X
S / J |
) Q) ,/'/ /
AP ]
O <5 <
%2 9£93 X
25 335 g = [0 o|| IO
3§=§¥fﬂg e o 7o o]’ o
g 2y xd
© ?( 2 % 4 /
oz
- é //// 4/// X ol O O X @
‘ |k Al ]
CONTINUOUS HEAD & SILL

June 7, 2022

P.0. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

FBPE Registry No. 9813

, DESIGN ‘%W

STEVES & SONS
FIBERGLASS DOOR
PART OR ASSEMBLY:
TYPICAL ELEVATION
PRESSURES & GENERAL NOTES

PRODUCT:

BY

NOJ DATE

REVISIONS

DATE: 4/20/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—41479.8

SHEET _1_ oF 13

© 2022 R.W. BuUILDING CONSULTANTS INC.



© Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.8.dwg

2.4
0.5" —*—I -— EXTERIOR
e > [T RN -
.k L. .
. - e )
R RPN §
— o K ..
- Ba N ’..l> f.
\ INTERIOR
COMPOSITE HINGE STILE
CAP (LVL)

35.75" MAX. DOOR

WIDTH

>

/"1 "\ HORIZONTAL CROSS SECTION

2/

79 MAX. DOOR HEIGHT

@
s
-

40.5u

)
SEE HARDWARE TABLE
[LATCH & DEADBOLT)
SEE HARDWARE TABLE
[MULTIPOINT LOCK)
@ FIBERGLASS DOOR PANEL

FIBERGLASS SKIN: 0.08" MIN. THK.
FOAM CORE: POLYURETHANE - 1.9 PCF MIN.}

sl

[

~1.2" 24"
—] ]<— 0.5"
S s et . B
:é-h ‘b.
. A;: . \
/ COMPOSITE
LOCK BLOCK LATCH STILE CAP
19.5" LONG (LvL)
(LVL)
i
& 8
":

L— 17.875"

LATCH SIGNATURE SERIES
KWIKSET DEADBOLT:  SIGNATURE SERIES {980)

LATCH: F51
SCHLAGE DEADBOLT: B&6ON

LATCH: PREMIUM HANDLESET
ROCKWELL DEADBOLT: PREMIUM DEADBOLT

PREMIUM MULTIPOINT HANDLESET
ROCKWELL w/ DEADLOCKING TONGUE
MULTIPOINT LOCK

COMPOSITE
CAP

TOPRAIL — |

(LVL)

FIBERGLASS SKIN

] s
1.2

INTERIOR

EXTERIOR

FOAM CORE— ||

BOTTOM RAIL
REINFORCEMENT
(LVL)

BOTTOM RAIL—"]

([COMP)

1.2

0.75"

7”2\ VERTICAL CROSS SECTION

\2/

atiilliss
Ty 1

AN
\\\\ x

“"'”"l/,
SCHMy,)"
\ICENgg ™.
No. 43409

>
0
-

June 7, 2022

/,
Nyt
- - 10
., - o
X
"_\50’3
O st
'z".h‘ml“)
.o'\\ 002(1)
SO Z8g0
SERL P
. o 3 Dwo
~ D> A2
D\\\ n .2
w 5™
bY ON -0
o o O
v O o éz&’
2 Em me
g £ o
Y (@] = _Cw
263 5028
LT Do
g b
€ 0
§ £ §
£ 3
§ gu
o o
n oz
z0 ]
00 =
oS ok
s[5 S8
3|5 od
EQ} o =
[ K7 <
[V X7)]
halg ¢
P (P P
§ o
o t
o o
>_
m
172
=
O
2]
o
s
L
<€
[}
o
=z
DATE: 4,/20/22
SCALE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FL—41479.8

SHEET _2 oF 13

© 2022 R.W., BUILDING CONSULTANTS INC.



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.8.dwg

0.8"

EXTERIOR

A\
W

INTERIOR COMPOSITE

COMPOSITE
CAP

/"1 "\ HORIZONTAL CROSS SECTION

STILE  STILE REINFORCEMENT

CAP \

3/

13.875" MAX. PANEL

WIDTH
5.875" MAX. D.L.O. 1
WIDTH
Vi
4
[V
5o \3/| IV
o5
22 | |o
Z =25
= _2%
28
Z o
=O~ ~0
™~

/
A

&

(LVL)
|
'l i
|
TOP RAIL =
REINFORCEMEN§ 1| |
(LvL) L
&
1
FIBERGLASS
SKIN
%
EXTERIOR INTERIOR
#
o v 'v'.
FOAM CORE - L
BOTIOM RALL | T
(Lvi) ~—~—JL | & B
- o
i
COMPOSITE — I
CAP

@ FIBERGLASS SIDELITE PANEL

FIBERGLASS SKIN: 0.08" MIN. THK.

FOAM CORE: POLYURETHANE - 1.9 PCF MIN.)

/ 2"\ VERTICAL CROSS SECTION

3/

-I /2u
GLASS BITE

INTERIOR

GLAIING < 2f

COMPOUND

68.5" MAX. PANEL WIDTH

11.25" MAX
D.L.O. HEIGHT

13.75" MAX.

13.125" )
MAX. D.L.O. 35 Mvc}éTg.L.o.

WIDTH

3 / y,

/ K y

&0 ||, O oy

o

xI

Q TRANSOM PANEL

T 60

=

pd

<

0.

G2
INTERIOR

— 1" O.A. THICK GLASS

AN\

P 1/8" TEMPERED GLASS

EXTERIOR

/"3 HORIZONTAL CROSS SECTION

NEY

T AR SPACE

1/8" TEMPERED GLASS

EXTERIOR

ALUMINUM SPACER

C :) GLAZING DETAIL

INTERIOR

716"
GLASS BITE

— 5/8" OVERALL GLASS THK.
5/32" TEMPERED GLASS

GLAING ——
COMPOUND ‘

DECORATIVE INSERT
AIR SPACE

EXfERiOR PVC MOULDING SECURED w/ 16 GA. X 1" BRAD
NAILS LOCATED 1" FROM ENDS & 3" O.C. MAX.

5/32" TEMPERED GLASS
FOAM SPACER

G2 GLAZING DETAIL

TRANSOM

June 7, 2022

P.0. Box 230, Vairico, FL 33595

BUILDING CONSULTANTS,
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

813.659.9197

FBPE Registry No. 9813

STEVES & SONS
FIBERGLASS DOOR
SIDELITE & TRANSOM

PART OR ASSEMBLY:

PRODUCT:

PANEL DETAILS

NOJ DATE

REVISIONS

DATE: 4,/20/22

ScAlE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL-41479.8

SHEET _ 35 oF 13

© 2022 R.W. BUILDING CONSULTANTS INC,



TONG SANVYLTINSNGD SNia™ing "M'd 2202 @

£186 'ON Ansibay Iddd SNOISIAZY
L616°6S9°CL8 'ON 8uoyd Ag 3ivd _[ON QM
S6SES T4 ‘09UIDA ‘0SZ Xog "O'd § SNOILJO "TaNVd m gL @ 1_
"ONI ‘SINVLINSNOD ONIGTing @. XIGN3SSY 80 Lavd Y et Bt i R
W RN, 400a SSV10438ld N R

% ...@mmu\m.%\\\ LAY SNOS % S3AILS TlyglB|EE &

///0...00&0.@.... /W\\ WPIUYDS o uopuk i m 6y w gl
ll&... % Y%A peindeld sjuewnsog +L3naodd HEAEELE &

TT0T ‘L sunf

4

60vEY 'ON

A\
\\\\
S

. JONZON ..
&Qoo.-oo..o..\u-oo)
7, INAS D O

S:.uw_::,,

=

|

L

w Q

= 122 ]

. N = P

© 9

O

L

~
ps
g 3

P4
< B
o.

»
o

<

O

| -

Q

LR

|

9

i 5 O

I <L T

O L

\ o~ & 2

<

Q.

p

3

O

(N

[ |

2 PANEL
3/4 SQUARE TOP

BMP'g 6Ly -14\0202) 6.7 Ly-1H\sBUIMEIQ - D\SIIYIS ADVDIT 6.L7LY-14\s[er01ddy 1onpoid BPLOLS - Y\IUSUBWIR - SUOS pUB SBA3IS\SIUBIDNZ



TON] SANVYLANSNOD aNIaning

‘MM Zzoz

€186 "oN Ansibsy Ida4

ELEVATION
X

/
Y

%

R

FOVWI GFIOHIIW

L616°6S9°CL8 "ON 8uoyd SNOISIAZY F
S6GES 14 ‘OOUIDA ‘OSZ Xog ‘O°d § SNOLLYAT T3 28 V00N o EI I 3 B_
“ONI ‘SINVLINSNOD 9NIGTiNg @“ XIGNISsv g0 19vd N R
& =2 g~
N 2w
S ¥00d SSVYI9¥3gld < lglsle _
. %&‘0\ oy SOTEY, ON T SNOS % S3AILS ME 215E ol
. x
:10Na0¥d HEIHEE %
— <2
O - 00// % //M/ & 2W
r,x.vu R .\ ul
~ oih®
<|or _ﬂv_ b
z
@9 8o
| 0 'z
o) > N
9 1@ @
SHe i+
P
o N @) X
g
zw
Sl
W =
ﬁ 0 Q
R
2 (P
o) = I
% //// = / o Ve nw
* <o o
~ v - ]
I
@) > X w
iy
] | ml - Z
iiv!g 15
Q e ZW

Bmpg'6/1Ly-14\0202) 6L7Ly-14\sBuIMEId - DASIIYIS ADVDIT 6LpLy-T4\s|eroiddy 1onpoid BPLOY - V\IUSUBWIR - SUOS pue SaA3IS\SIUSIID\Z



ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.8.dwg

SEENOIE 1

A\

.

SEE NOTE 2
(TYP.)

D

/ 1"\ HORIZONTAL CROSS SECTION
w Outswing shown {inswing similar)

INTERIOR

EXTERIOR

EXTERIOR \

INTERIOR

/“ 4"\ VERTICAL CROSS SECTION
\U Outswing shown {Inswing similar)

Ui ENNN
A 17

A\

A\ {}
<°} «15 ‘67
\\\ IR Lias ) &/ /,
AL RO 10
S X
SSiw 8 CAAG
=IZ 3 8.2=¢
SO T X gEiSiag,
293 2 Q5P 555
2% DS 2La0
’/ ‘. ' g\\ i:l -5 g d
/// b LT ) \\\ o > p‘; z
SEE NOTE 1 “,, *KPRRW 205 p
® 1 \\\% 8@,6%
7 v B ©%xz8
INTERIOR . Eq g 8 05
L c
& & |88 3988
N ¢ boow
Qle v,
e 2 §
~ olE O
~ £ . 3 0,
/ 2 s &
EXTERIOR SEE(TFYISTE 2 3
] 0 Ew
£ | &8
@ 34112 na >E
R
ny 12 27
/2" HORIZONTAL CROSS SECTION (/3"\ HORIZONTAL CROSS SECTION 22 |8 23
\_6_/ Outswing shown inswing similar) \_6_/ Outswing shown {Inswing similar) EW ol RE
e = O
5 = |5 §
= N
6] &
& &
TN >
m
%)
P
|®]
(2]
ol
vl
g
z
Lt
g |2
0]
EXTERIOR W INTERIOR ol |5
= 3]
oNE: 4/20/22 | 2
(75 VERTICAL CROSS SECTION swE N.TS. |
w Outswing shown {Inswing similar) NOTES: DWG. B:  RW 5
1. Sidelite assembly screws located @ 3" & 19" from cHk. BY:  LFS 2
each end of mullion (4 total). DRAWING NO.: z
2. Moulding secured w/ 16 GA. X 1" brad FL—-41479.8 |u
nails located 1" from ends & 6" 0.c. max. R
sHEET 6 oF 13 g




ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.8.dwg

1-1/4" MIN.
EMB. (TYP.)

NOTES:

47
a - Lo B
= pa
4 kA
4 4
" .
" )
b 4
b B 4
4 . TRV
4 5
4a
e
<{innnnig
X Ap o
sl :
4 o W
I
A
4 .
s 4

0.15" C-SINK
(TYP)

INTERIOR

I
S I ""‘

EA

i@xé%@

/"1 "\ HORIZONTAL CROSS SECTION

7 /Shownw/2XBuck =~
Outswing shown {inswing similar)

1. Sidelite assembly screws locatfed 4" from each
end plus 4 more equally spaced along jamb (6 total).

2. Moulding secured w/ 16 GA. X 1" brad nails
located 1" from ends & &" o.c. max.

INTERIOR

EXTERIOR

EXTERIOR

1-1/4" MIN,
EMB. (TYP.)

m HORIZONTAL CROSS SECTION

Shown w/ 2X Buck
QOutswing shown {Inswing similar)

SEENOTE 1

A\

@ SEE NOTE 2
(TYP.)

/"3 "\ HORIZONTAL CROSS SECTION

®)

P

B’

\7/ Shown w/ 2X Buck .
Outswing shown (Inswing similar)

1-1/4" MIN.
EMB. (TYP.)

EXTERIOR

INTERIOR

/"4 \ VERTICAL CROSS SECTION

7

Shown w/ 2X Buck

Outswing shown {Inswing similar)

SHEET _7 oF 13

in
[0)]
i)
]
(2)9')
'-—"P\
-
™o
E oow
Z 0g0
St
ZSEELE
D 2 R
(o]
\ R0
& ON - B
3 O O
38 ggif
£EEa 500
a £O | . Cc
£y 502§
Q"2 adaoi
OWLL:
N-‘E .
15 9
N T g
QIs 0 .
818 cu
<18 2
<
25
'_&_)m
28 | =x
3 wy
sy |3 92
75 )
ny 1D <=
g3 |5 5
w
I-% 7] EU)
L 0@
5 0% = %m
S OIDO:
2 =
g |y °
& =
>
m
n
=z
O
1%,
|
R
2]
z
i3]
wl 1%
e <
< -
al |3
m
RE
Z a
o}
DATE: 4/20/22 |z
[a]
scaE:  N.T.S. 2
3
DWG. BY: RW o
CHK. BY:  LFS 3
DRAWING NO.: g
FL—41479.8 g
N
@




S8 2
S5y %
| o “E5,
T oo e S5t oz
- '-. R od N [¢:]
R % D [AOT 558
® - o, "R 3558
.v //,II \\\ ZOow
9 Hppg W SR .8
. 2% o0x28
AALELRLERRRANY 14 ’gm Z Mo 1 4
A §5¢ do5k
N gl "% Baal
e e INTERIOR <] L
. ~ 6 c2 §
- sl 2.
:',lmﬁmi,-',l.«'/ii/m = 8 ju‘ @
Q_ Q
. RSP ;:Jg
o s - Om
T () 2% <
v m EXTERIOR 38 wo
T 83 |5 f%
/4 ny 19 <=
e (O @ L1/ MIN SE |7 =3
. (TYP. EMB. (TYP.) I
- o Om
/1" HORIZONTAL CROSS SECTION "2\ HORIZONTAL CROSS SECTION =
Shown w/ 1X Buck 8 /Shownw/ 1XBuck 2 g ©
Outswing shown {Inswing similar) Outswing shown (Inswing similar) o o
v %
@\ , EXTERIOR INTERIOR
/ 4\ VERTICAL CROSS SECTION
8 /Shownw/ 1XBuck
SEENOTE 1 Qutswing shown (Inswing similar) 2]
INTERIOR Q
(]
é.
;X
< : : L
EXTERIOR T <
. . (o]
(50) SEENOTE2 ] .
(TYP.) N\ 9
« DATE: 4,/20/22
1-1/4" MIN. SCALE:  N.T.S.
NOTES: EMB. {TYP.) DWG. B:  RW
1. Sidelite assembly screws located 4" from each m HORIZONTAL CROSS SECTION : cHK. B:  LFS
end plus 4 more equally spaced along jamb (6 total). 8/ Shownw/ TX Buck DRAWING NO.:
2. Moulding secured w/ 16 GA. X 1" brad nails Outswing shown {Inswing similar) FL-41479.8
located 1" from ends & 4" 0.c. max. e B o 13

ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.8.dwg

© 2022 R.W. BUILDING CONSULTANTS ING.



D 7
\\\ & c(. ' ‘&/@,// in
S \Q.... ..‘ /’. %
-~ o » . -
S5y 8 €. azg R
e oo LS H ESz=oy
‘ =M S g8 =2
Z a2 Z OSSP 5o
,’ :... ._o e@ S % .g % o]
KR 4P Do
,/ S eonny ) \\\ o > mZ
/// \\ g d -
T W 5§8°5
&, V5%
1, 2378
o [+)] ray ]
INTERIOR g 50 3 .cw
S 9% Bo&E
S B
e 2 §
2 S
o
Z & i &
ZE as
=< Sk
i &
EXTERIOR - O§
2\ 0% | 3=
| 38 | ER
> n soy kadp
, 1-1/4" MIN. S2 338
1-1/4" MIN. 3 D
EMB. {TYP.) Yo ol 8
EMB. (TYP.) geg 2 2=
/1" HORIZONTAL CROSS SECTION {2\ HORIZONTAL CROSS SECTION e OR |o] 82
\_9_/ Shown Direcf fo Masonry 9 / Shown Direct to Masonry 8 ol N2
Outswing shown (Inswing similar) Outswing shown (Inswing similar) 2 Ll €5
o <] T
0. o,
c 5
e v - "
: EXTERIOR INTERIOR
2]
SEENOTE 1 ("4 \ VERTICAL CROSS SECTION Z
9 / Shown Direct to Masonry 0
INTERIOR Outswing shown (Inswing similar) =l
2
-~
=
EXTERIOR - .
SEENOTE 2 L e
(TYP.) AN DATE: 4./20/22
1-1/4" MIN. SCALE:  N.T.S,
NOTES: EMB. (TYP)) owe. B:: RW
1. Sidelite assembly screws located 4" from each , CHK. BY: LFS
end plus 4 more equally spaced along jamb (6 total). /3\ g‘ong”.’:ﬁé ﬁROSS SECTION DRAWING NO.:
H u H own irec ason
2. Moulding secured w/ 16 GA. X 1" brad nai N3/ iqum Direct to Masom smilar FL-41479.8
located 1" from ends & 6" 0.c. max. Seer 9 or 13

Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.8.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



CON| SINVYAANSNOD SNIQTHNE "M'Y 2202 @

\\

€186 ‘ON Ansibay 3d4ad SNOISIAZY
L6L6°659°CLE "ON ®uold SNOILLOJS g 31vd_[ON ©
ssse 14 oo ‘ocz xoa 03 [ SSOMO TWOILYIA Qlalzle] 2|2
"ONI *SINVLINSNOD oNIaling \Wm, *ATBWISSY ¥0 Livd SI=I%S] RS
N =Z g —
— ¥00a SSv1oM3ald NN
Praaae - pad SNOS % S3AILS MR a_
‘1oNaoYd g m HEE :
e 3
o
j
i
o vy
o Ao
& Qe
z o8
w—d K
_ 3
>0
: mw
= m‘
O =
3 z 3
a @ ("dAL) 'gW3
o (o] NIW P/ L-L
O ac
& L &
Z =
Y
f
i
>
S

W Oufswing Threshold

EXTERIOR

('dAL} "gw3
"NIW /11

EXTERIOR

A

/"3 VERTICAL CROSS SECTION

W Inswing Threshold

INTERIOR

('dAL) "aw3
"NIW .F/1-1

EXTERIOR

»

/"1 "\ VERTICAL CROSS SECTION

w Inswing Threshold

INTERIOR

('dAL) "awW3
"NIW #/ 11

1

1. Anchor @ sill is not required for single door (X} only.

NOTE:

BMp'g'6.7LY-14\0202) 6L¢Lp-14\sBumeld - D\S1YIS ADVOIT 6.1t~ Td\s[eroiddy 19npoid BpLOlS - V\iusuRWIS - SUOS pue $8A31IS\SIUBID\Z



TONT SANVLINSNOD sNiging

‘MY 2202 Q

£186 ‘ON Ansibsy Iddd SNOISIAZY
LB16°6G9°CL8 "ON duoyd F
sescs 3 ‘osuion ‘oz xo8 o' [l ONIJOHONY Yong o8 WO slzlo| o2
Nt ..m»zﬁ._:mzoo oNIdTING \n&u KIBN3SSY d0 Lavd WW EH.5s
wh 11 5|z
o\ WNoygy, soves “ON ‘T 4000 SSY1943814 3 Jglgle T
SOy .0 %, RS w4 uopuA SNOS % S3IAILS MEHHE R
ll&.,. * \J“im peundeid sjuswinsoq -10Naodd 519 nwu S W %
70T °L sunyf
" . - =
e S 8§ S
%, LGB & 2
\\\\ \SI. m‘w AN &
\5:. 0.::46 -
1" T Al
FA L {dAL) XYW
(dAL) D091
_ R —n" .
‘ " Iy i v
ﬂll Tt 1 t f t t
L2 | N _
2
: S
™ a
ol
. o2& O
M .v b J . .v q.
= |4 \ R
MW\ A | I 1 B I l ] ] e
= kT LT K G - g
A » 4 m.f . . t.v..... - o .
=
O
[72]
Z.
<
oz
o
o (dAL)
< (dAL) XYW
~&>.: .U.O ._Ow
:.v G
T t 1 f f <
8 =
: o
€S » — ] x O
N 2 O <
= - st o <
S o5 &= - > <
o~ N O
& ..... U
I £ a
« ! ><
m — m — aql” R 2
») VR S
s o
TE
- =
O
)
pd
<
o
¢
B RO 7YY
b {dAL) XYW
(dAL) — 00,91
| & J _
ﬂl i.ﬁ/:w 1 1 1 1 1
“E N 2 <
=Y < — i
N o nwru e X_
P >
!
i - igl ) NS
P M 1§ | | | Ll E
J..- 4 \.. <....m< . n o ..A-..- S
PO 8 ...om.¢. mw g \ M ol ..q oy DN“
. H= . EX T W\Dul.l 4 bt B w
2E 3
N

BMP'g6LpLr-14\0202) 6L7Ly-T4\sBUIMeIQ - D\STIYIS ADVOTT 6.7 LY-14\s|enoiddy 1onpoid BPLO}S - Y\IUSUBULIB - SUOS PU. S3ASIS\SIUBIIDNZ



ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL.-41479.8.dwg

FRAME CORNERS ATTACHED W/ (3] 7/16' CROWN X DOOR G MULLION X 3.5 X 4 20 GA STEEL PLATE ATTAGHED e ud,
1-1/2' LONG 16 GA. STAPLES & (2) #7 X 2'DRYWALL 6 | |l 4" (TYP) TO BACK OF LOCK JAMB w/ (4] 1" R 7S
—1 PRy 1 & - - _ SSy 3 &Pz 8
—] f— - = =X g’ g 0, A0 ™
= e ” | ]I Ol Yk EESZEgn
b Ll :%? TRANSOM — B == T == -“T PAACIE- &i QE L
S— ’wﬂ.. ‘.Q\\Z-Q(’;m
— — SEE HINGE ' AN <E@
Fe f . T pEraL a e | fS 5385
” X% ol 1. Be % P s N Rl R
o TRANSOM TO | = o (TYP.) 2. T 2w / * PR W Z S
TRANSOM TO or HEAD T 5 g 3 CED b ) CE) <§( 2t 5 SR .5
HEAD (TvP) = % & 8 EE 38  ¢x23
{TYP.) zn O . Bbuw o 90 £ Eo gm@,
DIRECT TO DIRECTTO 2y % n 5© o g § 53 2ok
—_ MASONRY —| — - MASONRY . — = N - *\ "2 2ozl
HEAD & JAMBS HEAD & JAMBS ' A I S
(TYP) (TYp) Ezsi {E SIE 82
1 n ;
_ i _ i | BT L 55 &
T ST 2 2
GE JE o= = He
- —|| QE — I o> 5 .
02 *3 ¥ o | o
FRAME | =3 DOOR SILL = J SEE LATCH & 23 | £E
(nYP.) (TYP.) FH DEADBOLT STRIKE SEE MULTIPOINT LOCK e | Q8
- - cill K DETAIL STRIKE PLATE DETAIL 33 |5 Sw
L B ey e (TYP.) 0 |8 <
oF |3 LB
TRANSOM T a2 |2 =5
X HROMTO mion X0, OX outswinG HINGE JAMB/MULLION STRIKE JAMB/MULLION  STRIKE JAMB/MULLION L0 Y ES
@ (TYP) & NSWING LATCH & DEADBOLT MULTIPOINT LOCK 2 © ‘*5
INTEGRAL MULLION ATTACHED TO % (TYP) \ 2 3
HEAD, SILL & TRANSOM w/ (3] T T T T L= S'D'(ETL;T;)S’LL \ ‘/®
4?3;( 2-1/2" DRYWALL SCREWS ™ \ | = : DIRECTTO ’éﬁ &
(TYP) = WIS W= R PUS DRECTTO ~ MASONRY 2X BUCK
= ¥ 1 | & \ MASONRY 1X BUCK /@ X BUCK e R
BN f IXBUCK 2XBUCK (25| \@ DIRECT TO 0
| LT s T o 2X BUCK \ MASONRY \ 12 .
= e Lilo~l \\) Z
— 2X BUCK -1 = e 1| ROCKWELL MULTIP O
@éﬁ 11, \@ KWELL MULTIPOINT LOCK HARDWARE ROCKWELL HARDWARE @
0 1X BUCK o
- DIRECTTO | — \ ORECTTO G,@ i
MASONRY @
HEAD & JAMBS HINGE DETAIL MASONRY O PLATE
(mvP) INSWING 1xsuck () ENE
2X BUCK @ |
G Dyt @)=
INSWING ° — — 3 g A\ G )X BUCK ] BACK PLATE S
- O
SID(E%Y"E)S‘LL DOOR SiLL = s L[ e L )2XBUCK 2X BUCK (25 l =
. \\' ) e e | 2X BUCK S bAE: 4,/20,/22
S Do \.
L HEINE o Hle '\\@ 1XBUCK 1X BUCK )\@ oAk N.T.S.
DIRECT TO oo 5 RW
DIRECTTO \
OXO \1 MASONRY MASONRY X CHK. BY: LFS
KWIKSET HARDWARE : SCHLAGE HARDWARE DRAWNG NO:
HINGE DETAIL FL-41479.8
FRAME ANCHORING it HARDWARE DETAILS

ARER NN
- WL

sHEer 12 oF 13

© 2022 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.8.dwg

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL
A 1XBUCK (G >=0.42) WOOD
B 2X BUCK (G >=0.42) WOOD
C 1/4" MAX. SHIM SPACE -
D 1/4" X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
F 1/4" X 3-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
G 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.} STEEL
M 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL
P 1/4" X 2-1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
1 COMPOSITE JAMB COMP
3 COMPOSITE MULLION COMP/LVL
7 WEATHERSTRIP FOAM
8 SWEEP VINYL
9 4" X 4" HINGE STEEL
11 #9 X 3/4" PFH WOOD SCREW STEEL
12 LATCH STRIKE PLATE STEEL
13 DEADBOLT STRIKE PLATE STEEL
14 INSWING THRESHOLD ALUM/COMP
15 OUTSWING THRESHOLD ALUM/COMP
17 INSWING SIDELITE ADAPTER PVC
18 #8 X 3" SD TRIM SCREW STEEL
20 #9 X 1/2' PFH WOOD SCREW STEEL
21 #12 X 2-1/2" PFH WOOD SCREW STEEL
23 #8 X 3/4" PFH WOOD SCREW STEEL
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
27 #7 X 1-5/8" DRYWALL SCREW STEEL
29 #10 X 2" PFH WOOD SCREW STEEL
40 DOOR PANEL -
50 SIDELITE PANEL -

4.56"

0.75"

1

213"

COMPOSITE JAMB

WORLDWIDE "4EVER"

0'5" | et e

LVL INSERT

| /(0.65" X2.7")

©
25— |
@ COMPOSITE MULLION
2.44"

14 INSWING THRESHOLD

Columbia

17 INSWING SIDELITE SPACER

Columbia

— o5

[

4.6"

15 OUTSWING THRESHOLD

Columbia

CONCRETE ANCHOR NOTES:

edge distance fo mortar joints.

. Concrete anchor locations at the corners may be adjusied to maintain the min.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.
. Concrete anchor table:

''''
oooooo

June 7, 2022

S
N

et
o
W

Lorw
ONAL

/
Um

(@)
7,
%,
BUILDING CONSULTANTS, INC.

Hi

/,l?s
I/I
P.0. Box 230, Valrico, FL 33585

Documents Prepared By:«,
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

813.6598.9197

FBPE Registry No. 9813

ALL SEASONS, INC
FIBERGLASS DOOR

PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

NOJ DATE

REVISIONS

DATE: 4/20/22

wood screws to prevent the splitting of wood.

1-1/2" y
TAPCON® 7 g SCALE: N.T’.@
DeWALT o . . . Dwe. .
utRacoN: | 14 1-1/4 1 4 cik. B LFS
WOOD SCREW INSTALLATION NOTES: ORAWING NO.:
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL-41479.8

SHEET 13 oF 13

© 2022 R.W. BUILDING CONSULTANTS ING.



